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Three characterizabions or ex breme éo\ul:foh;

'T—"Je éLr'Onjc_sE 60’ ukbkior X OF ?.qualrl'on
Y. tb.y]

can be characterized l:)g ertbher  (0) . (1),
or (2) given by

(06 L b.x]
b (Vy: Tbyl. [x=s])

(15) [bax]
(ib) I_ X = (\7/_(3' [13_5] : B)J

(2a)  (Jy: byl [y=>x])
(2b) (\v’_g-, [5.3]'- ix=>y]} )

thze loroocs &Lml: l:\ﬂe.se Q.\nﬁl’“GLcl:e.riEa\.L:l'on.s are

Pairw:'se etzm'\la‘enﬁ are Q\emenl‘.arﬂ exercises

A pred{cae ca,\cuius arnd are ot given bhere .

Charackerizakiorn (0} s the wmost Lradibioral

one , arnd (1) s l:raol{f:ional too . In

EWwD 149 , Edsjer W. D\Eﬂasl:rq Carme up with
(2) . T1'>e onl {:Ln'nj L\'ml T want &o

lom'nl: oul is that () is  the For'ma”_y :;l:r-cmje_;l:
charactecization of x , and (2) the

Fm*m«”ﬂ WGal'ze.sl: ore ., It m'_jh‘: be advan -
tageous to kriow this when dealinj wu'!:(n
ex%reme solutions .
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